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Math 1050 PRACTICE Quiz (5.1-5.3)

For problems 1 to 3, consider the function f(x) = ngf;;iz
1. The domain of the function f(x)is 5 Y \ Y#1,2¢
£(x) = 2] |
M-2)(x-1) o
2. The x — intercept(s) of f(x) is (are) ( j-i- 2 O) (write answer(s) as
ordered pair(s)) - | - an
0=3%-T .1
‘I = él(_ 3
2 2
.
3. They — intercept(s) of f(x) is (are) <O ) 2 ) (write answer(s) as an
ordered pair(s)) -
< :,’:3(0)-? — = __l

(O)Y=3(0)+2 2

|

x244x+7

For problems 4 to 5, consider the function g(x) = . Write your answer(s) in equation form.

4. The vertical asymptote(s), if any, of the function g(x) is (are) K= ’
|

‘ b

L
i a
™ i

5. The non-vertical asymptote(s), if any, of the function g(x) is (are) j =¥X+56

X 5

-

X efex]iz!

= |-X=%]

6. Ifx = —5 is a zero (root) of a polynomial P(x) then ( A+ 6) is a factor of P(x).




x-4

7. Consider the rational function f(x) = o £(X)= X4
a) State the domain of f(x) in interval notation. (x+2)(%-3)

D* ¥ x*-2,3% (_.‘,J.g,l\}'(:gg)U(S.W)

b) Find the intercepts of f (x), if any. Write the answer as an ordered pair.
XNt O=p-t it y=04 _ 4
% =Yy o9 9

¢) Find all asymptotes of f(x). Write the answer as 3T equation. !

V.A. at X=-2 and X=3
H.A. aF §y=0

d) Determine whether the graph crosses a non-vertical asymptote.

O=%x=4 , 0=X-4 > %X=Y 6rosses +ne
X%9 line y=0)

e) Use the above information and
other appropriate points to draw N
its graph. Your graph should
clearly show and label all x and
y-intercepts (if applicable) and
asymptotes. i
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